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1. Introduction 
I’d like to demonstrate how to write a procedure/function/method in various programming 
languages, using different styles, implementing the acronym function. The acronym function 
maps a string to a word created by combining of the first letters of the “real” words of the original 
string. 

2. Code Examples 

2.1 Java 

2.1.1 Java ­ Imperative Style 

 
Figure 1 

 



This highly imperative implementation uses a for loop, assignment and blends all the different 
computations like filtering a collection, transforming elements, combining results into one 
monolithic chunk of code. 

2.1.2 Java ­ Functional Approximation ­ Pre Java 8 

 
Figure 2 

 
This example uses functional approximations created using Anonymous Classes and Functional 
Interfaces. The usage of Anonymous Classes is cumbersome and verbose. Also, they don’t 
create closures. The free variables in their bodies can only refer to final or effectively final local 
variables from the outer scope. There are libraries like Google Guava for Java 6+ for providing 
functional approximations a bit more professional way than the hand­written example above. 
Please note that Java 8 has introduced support for functional style programming. 



2.1.3 Java ­ Functional Style ­ Java 8 

 
Figure 3 

 
This Java 8 version example uses Aggregate Operations and Lambda Expressions. Please note 
that Lambda Expressions doesn’t introduce a new level of scoping and also can’t refer to 
non­final or non­”effectively final” local variables in the outer scope. 

2.2 JavaScript 

2.2.1 JavaScript ­ Functional Style 

 
Figure 4 

 
This functional style code example uses methods of the Array object like filter, map and join. 
Filter and map accepts code as data as argument! We pass the code to decide which elements 



to keep and to transform elements, as arguments in this example. The filter and map methods 
hides complexity and generalize repeating patterns of computation. 
 

2.2.2 JavaScript ­ Imperative Style 

 
Figure 5 

 
This example is highly imperative, containing a for loop and assignment. 

2.3 Python 

 
Figure 6 

 
This example in Python uses special syntax for generating the result. Although the list generator 
expression is readable, joining in Python is quite awkward. Python favors fix constructs (syntax) 
over encouraging the programmer to build his/her metalinguistic abstraction. On the one hand 
it’s convenient, but on the other hand it’s limiting. 



2.4 Ruby 
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This Ruby example augments the standard String class, meaning ALL string object will have the 
functionality “to_acronym” after loading this in. It’s concise, readable and beautifully DYNAMIC. 

2.5 Scheme 

2.5.1 Scheme ­ Functional Style 

 
Figure 8 



 
It’s a standard functional style solution in Scheme, using function composition and using some 
of the standard higher order procedures like filter and map. 
 

2.5.2 Scheme ­ Imperative Style 

 
Figure 9 

 
This imperative style solution in Scheme uses the “do” iteration construct. In this example I don’t 
use the part of the construct which is for effect and also since the variables are bound to fresh 
locations in each and every iteration, one might say it’s not that imperative after all. But the 
looping and blending everything into one is more like the imperative approach. 
 


